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Calculating Distance

Calculate the distance between the following sets of points. Express in simplest radical form

1. (5,1) and (2,5)
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4. (3,1) and (9,0)

¥

d:m’: &l:: 37
A=y TR
A=370r1 -



5. (-4,1) and (-1, 1) 6. (10,-1) and (2, 4)
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7.(-2,7) and (3, 4) .(9,0) and (-1, 5)
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9. (-6,-3) and (-2, 1
(2.1) 10. (9,-2) and (-4, 8)
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13. If the endpoints of AB are A(—4,5) and B(2,-5), what is the length of A8
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14. What is the distance between the points (—3, 2} and (1, 0)? d
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15. What is the length, to the nearest tenth, of the line segment joining the points (-4, 2) and (146, 52)?
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16. What is the length of the line segment with endpoints (—8,4) and (2,—5)?
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17. Incircle O, a diameter has endpoints (—=5,4) and (3,—6). What is the
length of the diameter?
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